














Find the option which should replace (?)

A. 16
B. 15
C. 13
D. 9

11 6 8

17 11 ?

25 34 19

19 29 11



Find the option which should replace (?)

WOLF : FLOW  :: DRAW : ?

A. WRAD
B. WARD
C. RWAD
D. DARW



Find the option which should replace (?)

17 : 201  :: 13 : ?

A. 138
B. 831
C. 256
D. 196W



Q. Two positions of dice are shown. What will appear on the 

opposite to the face containing 5?

(A) 3 (B) 2
(C) 1 (D) 4
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Q. Two positions of dice are shown. What will appear on the 

opposite to the face containing 3?

(A) 3 (B) 2
(C) 1 (D) 4
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Q. Two positions of dice are shown. What will appear on the 

opposite to the face containing     ?

(A) @ (B) %
(C) $ (D) CND
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Q. Two positions of dice are shown. What will appear on the 

opposite to the face containing Brown?

(A) Blue  (B) White
(C) Red (D) Green

Red

Blue

White

Red



Q. Two positions of dice are shown. What will appear on the 

opposite to the face containing 4?

(A) 3 (B) 2
(C) 1 (D) 5
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Two positions of dice are shown using A to F letters. What will 

appear on the opposite to the face containing B?

(A) F (B) C
(C) E (D) CND
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Two positions of dice are shown. What will appear on the 

opposite to the face containing Brown?

(A) Blue  (B) White

(C) Red (D) Green

Red

Blue

White

Red



Q. EAST

(A) 12,41,30,57

(B) 12,14,44,79

(C) 12,14,22,98

(D) 00,41,03,75
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Q. BEAR 

(A) 40,21,01,59 

(B) 04,21,01,59

(C) 24,12,01,59

(D) 24,12,10,59
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Q. GVRX

(A) 13,65,78,69 

(B) 13,56,78,96

(C) 24,56,87,96

(D) 75,01,87,34
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